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Question Number : 1 Question Id : 5447341441 Display Question Number : Yes Is Question
Mandatory : No

Iff:R— R isdefinedas f(x+y) = f(x)+ f(y) Vx,y € Rand f(1) = 5. then find the

value of the following: Y-y f(r) =7

f:R— R 9008y f(x +y) = f(x) +f(y) Vx,y € R o 2080k f(1) = 5 A6
?:1 f(f) msb Dwa

Options:
Sn(n+1)

1.¢ 2

n(n—1)

2.% 2

on(n—1)

n(n+1)

4. % 2

Question Number : 2 Question Id : 5447341442 Display Question Number : Yes Is Question
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_ - _ xr—2
What 1s the range the function h(x) = 7
x+3
h(x) = i DVAD T () AB?
s x+3 'S" :
Options:

(—,2)U(2,0)

1. %
, o (0, DU,
3 % (—0,-3) U (=3,0)

4 8 (—,~1)U(-1,00)

Question Number : 3 Question Id : 5447341443 Display Question Number : Yes Is Question

Mandatory : No

Define f:R — R by f(x) = cos(Tan™*(sin(Tan™* x))). then lim (fof) x =
X—+00
f:R— R & f(x) = cos(Tan"*(sin(Tan"! x))) QBN lim (fof) x =
X=00

Options:
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2

4. % 3V3

Question Number : 4 Question Id : 5447341444 Display Question Number : Yes Is Question
Mandatory : No

.VYn€E€N

o w1 10 a |1 0
If A 1s a matrix [l l‘LrllenA —l” X

1 0

n 1

A:[i T]@ﬁﬁbSMQSEOJJé.An:[

] .Vn€eN
Options:

not true forn = 3
g =3 D) S°ED

not true forn = 2

5 x N =2 5 Q230 5%

true forn = 3
3 A= 3 &) 2SN

nottrueforn =1

4 % n=1% J2H0 5°D

Question Number : 5 Question Id : 5447341445 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

The number of solutions of the following system of linear homogenous equations
x—y+z=0x+2y-2=0,2x+y+32=01s

X—-y4+z=0v+2y-2=0, 2x+y+32=0 o3 ddap ONE6E bis;b‘ge‘o &oC
FETV o’

Options:

1.¢ 1

2.3'£8

Countable infinite
_ G’sbeja‘:«!)cl 9 00HAD

Uncountable
4 % 9353)‘:)263

Question Number : 6 Question Id : 5447341446 Display Question Number : Yes Is Question
Mandatory : No

The system of equations x + 2y = 3. 3x + 6y = a — 2 has no solution
X+2y=3.3x+ 6y =a—2 26 DDV FER T

Options:

. x Ha=11

% If a=—-9

3 % If a+9
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4-J1ta:t11

Question Number : 7 Question Id : 5447341447 Display Question Number : Yes Is Question
Mandatory : No

If each element. of a determinant of third order with value A, 1s multiplied by 3. then the value of
newly formed determinant is

A Jeodrr :)g’df:‘m (0 28 J0PES S0 Srass’ 1O Qresad 3 § Mo 06 E
g8 AT6EY D07

Options:
1.8 34

, % 94

3 o BT4

4 % —27A

Question Number : 8 Question Id : 5447341448 Display Question Number : Yes Is Question
Mandatory : No

c0s2x sin‘x cos2x

sinx cos2x cos’x
c0s2x cos’x cos2x

If the determinant 1s expandad in powers of cos x . then the constant term

i the expansion 1s

c0s2x sin’x cos2x

sinx cos2x cos’x

0 Jrés'R) cos v A, Ardanuy’ D8P Sty 20 DA
c0s2X cos‘x cos2x

Options:
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Question Number : 9 Question Id : 5447341449 Display Question Number : Yes Is Question

Mandatory : No

1 3
LetA =

¥ % X
T 2 == " .. : N & "
4 _3]. L&ts = [ [Tl € R°/A |1‘ =3 I},”uhm 1s the cardmality of S ?

X
1}1

ot S|

X X
4 —3 ‘ € R*/A [El =3 lll ] & Gol ArOSAVY o)’

Options:
1% 1

Countably infinite

s o 290D 65272322 Roafen

|S| = 1 but S 1s finite
S D80 23 |S] > 1

3. %

Uncountable

G’Sbbe.)ﬁ‘:)g)
4. =
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Question Number : 10 Question Id : 5447341450 Display Question Number : Yes Is Question
Mandatory : No

1 v 3
Which of the following 1s a fourth root of — + I ;/— ?

& 808 TOS° DA ; + i'f CANE), 4 5 ATVIN BB

Options:

- 4
Ccis —
1. ¢ 12

ClS —
cls —
: 6

Cis —
3

Question Number : 11 Question Id : 5447341451 Display Question Number : Yes Is Question
Mandatory : No

If 1, w, w2, ... ©'° are 11% roots of unity. then product of these roots is ‘1’

{00070 ar Y awg), 11 5 Aarered wond, & durere SR

Options:

1 8 W
2, % —1

3.¢ 1
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4;;..5{!.)

Question Number : 12 Question Id : 5447341452 Display Question Number : Yes Is Question
Mandatory : No

Let S be the set of all quadratic equations of the form x + bx + ¢ = 0 where b, c €

{1,2,3,4,5,6}. If an equation is selected at random from S, then the probability that the

equation has real roots 1s

bcen{1,2,3,4,5 6} $ Bod Srosten 8050 S DS drHane’ éof x2+ by +c=0
5 HRSEETL DD, By § Ao AIPE;DSrT 28 PALSIT) SRV THS
S0 Gokerds Rozr(S

Options:
9

Question Number : 13 Question Id : 5447341453 Display Question Number : Yes Is Question
Mandatory : No
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: ¥y 3 1
Ita, B, y are the roots of the equation 2° 43x% = 7x + 5 = 0, then the value of — + — + — s

A

S S |
431 = 7x +5 = 0 Hdogoerd «, B, y w Jrergd = + E * ? D) dod?

Question Number : 14 Question Id : 5447341454 Display Question Number : Yes Is Question
Mandatory : No

The condition that x* — p,.rz + qx — r = 0 may have two of its roots equal to each other but of
opposite sign 1

= px’ + qr =1 = 0 DSOS Botd Sureren DAFIR. DDI) e DA o,

Options:
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4.2 T=0P"q

Question Number : 15 Question Id : 5447341455 Display Question Number : Yes Is Question
Mandatory : No

% 8 0 0 ‘
00 0 e 0

Sum of the roots of the equation i & 0 é —(0 0 x—1|=01s
T T -0 BB

2 DDSEETAS STUrY AWSEW

Options:

1.‘“2

2. 3

Question Number : 16 Question Id : 5447341456 Display Question Number : Yes Is Question
Mandatory : No

In an examination, a student has to write exams 1n 8 different subjects. He 1s declared fail if he fails

m at least one subject. The number of ways i which he can fail 1s

28 055 Poodow) D@ﬁg 8 93) DTV BT LI oosrd). @ w8, 9F) DB DY DOVT
3 39‘32 D088" Do, Lond ¢ qu;gg 008" DOVAD| DTV Vo ___

Options:
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. x 127

3. 255

Question Number : 17 Question Id : 5447341457 Display Question Number : Yes Is Question
Mandatory : No

If 8. ?Pr =7 .BP,._l . what is the value of ‘1""?
8.7P. =7.8P,_; 0008 7T ewnd doeh?
Options:

, x3&4

. 2 BED

e 4 & 5

No solution (No such ‘7’ exists)

DD T (980508 T ;:»5;5:’::.«»3o s5°0)
4. <& @

Question Number : 18 Question Id : 5447341458 Display Question Number : Yes Is Question
Mandatory : No
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7 relatives of a man comprises 4 ladies and 3 gentlemen. His wife also has 7 relatives — 3 of
them are ladies and 4 are gentlemen. In how many ways can they invite a dinner party of 3

ladies and 3 gentlemen so that there are 3 of man'’s relative and 3 of wife’s relative?

w8 3188 0 7 (60 LoGDLS’ 4 MK He 2Bk 3 B0 YAV V6. BB LPEE
0 3T T wo@PuE’ Ao Sen Baky Teub S0 AL UM, 38
oSG B, [ WoEBSANES” A ST 28 BRIV A6
QO 200 YARKPOR D) e e dotiodw.

Options:
| 485

, % 500
L % 486

4 % 102

Question Number : 19 Question Id : 5447341459 Display Question Number : Yes Is Question
Mandatory : No

2
X

+3x—4 .

The partial fraction of =

xz

x2+3x—4

FEE DT) T TR,

Options:

—16 1
5(x+4)+5(x—1)

¥
4

> % 1+x+4+x—1
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4 —33 N 1
3 % sx+4)  Sx—-1)
2 n 1
% x+4 ¥—13

Question Number : 20 Question Id : 5447341460 Display Question Number : Yes Is Question
Mandatory : No

(1 —tan 348°)(1 + cot417°) =

Options:
, 3V3

Question Number : 21 Question Id : 5447341461 Display Question Number : Yes Is Question
Mandatory : No
T 12

If 0 <8 < 7311d sin & cos 6 S then sin* @ + cos* @ =
T . 12 .4 4
0<§@ {:7 & sinf cos 6 =¥E9C1:Da sin“ @ + cos* @ =

Options:
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327
1. 8 625

337
5 o O35

347
x 625

340
625

Question Number : 22 Question Id : 5447341462 Display Question Number : Yes Is Question

Mandatory : No
In a triangle AABC. if tan(A4/2) ,tan(B/2),tan(C/2) are in Arithmetic progression. then

which of the following option is always correct?

A0 ABC &° , tan(4/2),tan(B/2),tan(C/2) ©0886¢85° Gotd, & $od donswds’
RN Er DB $358 7

Options:

cos A, cos B, cos C are in Arithmetic Progression

cos A, cos B, cos C e90838e5° &™) Qv
1.4

cos 4, cos B, cos C are in Geometric Progression

o cos A, cos B, cosC ea3des” €&J7) QO

cos A, cos B, cos C are 1n harmonic Progression
. CosA,cosB, cos C @wé&SQQ‘.éG &) QL
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No conclusion can be made with given data
5§ QDRI B3NS DB DGoCLTIW

Question Number : 23 Question Id : 5447341463 Display Question Number : Yes Is Question
Mandatory : No

_ R _1 4 45 63
What is the value of Sin™1 ey + Cos™? = + Tan™1 —

4 12

Sin—+—
13

_1 4 _1 63
+ Cos 1? + Tan™! — DD RIFDOPODG

Options:

1.8

Question Number : 24 Question Id : 5447341464 Display Question Number : Yes Is Question
Mandatory : No

Let a,b,c denote the lengths of sides of BC,CA, AB of AABC. In AABC. £LBAC =
30° £LABC =60°Thena: b:cis

a,b,c o a0 ABC & BC,CA, AB 302500 JE)en Arddron. LBAC =
30°, LABC = 60° a8 a : b i ¢ £ DATIIE
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. w2381
, » 1312
, x1:2:43
4 % 2:1:3

Question Number : 25 Question Id : 5447341465 Display Question Number : Yes Is Question
Mandatory : No

T
In a triangle ABC.1ifb = 2,c =3 and 4B = B then ‘a’ satisfies the equation

T
w8 Gabatn ABC 6 b =2,c = 3 20808 LB =— eond. ‘0’ 63083 2RDEGEA

Options:

1% a*+3V3a+5=0
, x a°+3¥3a—-5=0
B_Ja2~3\-"r§a+5:0

4 % V3a® +3a+4+5=0

Question Number : 26 Question Id : 5447341466 Display Question Number : Yes Is Question
Mandatory : No
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InAABC.ifa:b:ic=4:5:6then the ratio between the circumradius and the inradius 1s

ABC Q20u8n8" athic=4:5:6 0o & 3% H03mAS BoddSemrs o Aind
Options:
16

1.¢ 7

Question Number : 27 Question Id : 5447341467 Display Question Number : Yes Is Question
Mandatory : No

The position vectors of A and B are (T 74 ’IN(] and (%‘} +% E{) If ‘B* divides the line AC

in the ratio 2 ¢ 1. then position vector of ‘C” 1

~~ o
kl

4 oot B Dodoipe o odsen 3o (1 + + k) sobao (37 +7 k) w e
‘B Do) AC 202 1 gy 6. *C” a0y, A8 0B AR?

Options:

1. % (; '0’0)
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Question Number : 28 Question Id : 5447341468 Display Question Number : Yes Is Question
Mandatory : No

Leta,b and ¢ are 3 non zero vectors such that no 2 of these are collinear. If vector @ + 2b
is collinear with ¢ and b + 3¢ 1s collinear with @ (4 being some non-zero scalar) then a +

2b + 6¢ equals

T,b T 880 v6808" D Botr dDatrey S Boww T +2h 068 T Sarb +
3T 988 T SAr 20DoHI T +2b +6C =

Options:

. %A@

|

4.

Question Number : 29 Question Id : 5447341469 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following pomts lie on the plane passing through 2i + 3j — k,3i + 2j + kand i + ] + 4k ?
2043 — k342 +k 28080 i +j + 4k Dothodw Mot o a0 ol DothdPLn Ja)?
Options:
20 —3j + 12k & 2i+j+—k

1. %

, w 20— 3j +13k &2i+j+6k

R — B B
3‘¢2:—3;+13k&2:+?)+?k

26k & 2EFoT+ 3k
4, % -

Question Number : 30 Question Id : 5447341470 Display Question Number : Yes Is Question
Mandatory : No

If @,b,T are three vectors such that | 7' | = | b l =2.@.b =2and@T +b +¢ = 0. then

| €| is equal to

a,b,c ed s |T|=|b|=2.0.b =258 +b +7 =0 eckipmwes ||
DeNIL) DATHDHE

Options:

1.3"'2
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Question Number : 31 Question Id : 5447341471 Display Question Number : Yes Is Question
Mandatory : No

(u+2v-w). [(u-v)x(u-v-w)

[u v w]

Let u, v and w are non-coplanar vectors, then the value of

is equal to

+20-w). [(u- .-
i, v <00k w e Hedairen 59 Hidsen wond ot (- i

S8, Dewsd dod?

[u v w]

Options:

Question Number : 32 Question Id : 5447341472 Display Question Number : Yes Is Question
Mandatory : No

°

Let u and v be two non-zero vectors in R®. Then |u X v |* + | u.v|*is equal to

R® & u 08050 v 0 8ot HRB6 ROI00S | u X v 1+ | u.v|* © 08rsd8

Options:

;& |u|2+li;|2
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5 2 |u| |v]

lul® [v]*

2
2w Clul +1v])

Question Number : 33 Question Id : 5447341473 Display Question Number : Yes Is Question
Mandatory : No

Let u and v be non-collinear vectors in R, Let w be the orthogonal projection vector of u on v.
Consider two statements:

(i) Any vector in R* can be written as a linear combination of u and v

(11) w can be wriften as a linear combination of u and v as w = au + bv where both a and
b are nonzero real numbers.

u 800 v 03D R® & wdDoiren 5 HB%n. w 03 v D u aI8), o8) DEDAW

(i) R* & D %6% wonm u 26050 v © 3D SVONET TFabrvsw
(if) w &0 1 200050 v © 30D LVANET TV, a,b w w:ﬁyﬁd TR Fooaaﬁw

Options:

Both (i) and (ii) are true
| % (1) S0B8od (ii) O D280

Only (i) 1s true. but (ii) 1s false
5 (1) S0rgheadd Q220 <S0803WD (1i) Q2220 5P

Only (ii) 1s true. but (i) 1s false
3 x (i) ATPHR) 22600 B3 (i) Q2 S°CD
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Both (i) and (ii) are false
4 % (1) 08030 (ii) e Tk A2AW S°)

Question Number : 34 Question Id : 5447341474 Display Question Number : Yes Is Question
Mandatory : No

If for a distribution, Y.(x —=5) = 3. Y.(x - 5)2 = 43 and total no. of observations 1s 18, then

the variance of the distribution 15

18 B3P (o w8 JeraTdS X(x - 5) = 3. Z(x —5)° = 43 wowd & Jeradd) JKyd

Options:
1 % 2.16

5 x 3.16
5 o 588

4 % 3.36

Question Number : 35 Question Id : 5447341475 Display Question Number : Yes Is Question
Mandatory : No

The possible values of x i1f S.D of the numbers 2,3, 2x and 11 1s 3.5 1s equal to
2,3, 2x 20dain 11 Do FATE3S DFVRDAW 3.5 aND ¥ dewsden
Options:

5
&, —
3

1, %
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Question Number : 36 Question Id : 5447341476 Display Question Number : Yes Is Question
Mandatory : No

Given P(4) = 0.5. P(B) = 0.4. P(AN B) = 0.3 then P(A'/B’) is equal to
P(A) =0.5.P(B) =04.P(ANB) = 0.3 @ P(A'/B') =
Options:

1

1.8 3

Question Number : 37 Question Id : 5447341477 Display Question Number : Yes Is Question
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Two bolts, two nuts and three needles are in a box. Two parts are chosen at random from the
box. What is the probability that one s a bolt and one 1s a needle?

28 DG’ Toc t5'Quew, Bocth) Ak BOLD SPE) AP &) AN, OIS0
Goced HZHL & DE Aot SV, 0GEOE &L Totkadld AP L DoerS(d
Jod?

Options:
2

1.% 21

Question Number : 38 Question Id : 5447341478 Display Question Number : Yes Is Question

Mandatory : No

Three students A, B, C are running a race. A and B have the same probability of winning and
each 1s twice likely to win as C. Then the probability that B or C wins 1s equal to

(assuming there are no ties)

A, B,C 3q=5gom 28 DA Dodad e DEXNTY 0. & DB 4, B © Av
:boe;':}saw "R 003D & ‘éaoe,m?gej C B ‘;ooa;va5653 Gegu:a o & T’
B dor C foseds RoEr(d

Options:
2

1.% 5
AP EAPCET 2021
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U'Ilw

2.9

xJ]m

-J|m

Question Number : 39 Question Id : 5447341479 Display Question Number : Yes Is Question
Mandatory : No

The probability of a man hitting a target is = the minimum number of times he must fire so

that the probability of hitting the target at least once is more then 90 %

28 S w8 VT BAoD Voer(d -2— %0 w8 FT UR(R) DAoL 90 % ST
DS, Ro[B G0kt §dR0 ) ) e 26D,

Options:
L*™ 6

2.9 3

Question Number : 40 Question Id : 5447341480 Display Question Number : Yes Is Question
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For a binomial distribution with mean 6 and variance 2. Then the value of P(X = 8) 1s
w8 BLOGS DT RO DVE{0AW 6 QA 2 ond P(X = 8) densd Jod?

Options:

28

;% 3%

23

2.« 37

Question Number : 41 Question Id : 5447341481 Display Question Number : Yes Is Question
Mandatory : No

A rod of length 21 slides with its ends on two perpendicular lines. then the locus of 1ts mid-
point 13

21 TePITe) w8 ¢ WS ot LordRVY ZPAEID) LT Gofd & S¢. 6] Do

Dot DS
Options:
2. % ks }"2 =1
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3 2x* 42yt =P

o BXS B =

Question Number : 42 Question Id : 5447341482 Display Question Number : Yes Is Question
Mandatory : No

If the axes are transformed to the point (—1,1) then the equation 3x* + y% + 2x + 4y +
15 = 0 would transform to

0 VATSE DG BT SurODedOD P IBL SrB\IN® 317 +y7 +2x +
4y + 15 = 0 2E6mAD A1), Errods DO SLIYIW.
Options:

. w 3x*+2y’—4x+6y+23=0

, 32 +y* —4x+6y+21=0

L% 34y +4x—6y—21=0

x 3x2 +y2 +4x+6y+21=0

Question Number : 43 Question Id : 5447341483 Display Question Number : Yes Is Question
Mandatory : No

Find the value of ‘k’. if the line joining the points (2, k) and (3 ,7) 1s parallel to the line
joining points (—2,1) and (3,0).

(2,k) 08asn (3,7) Docosposn 880 o, (—2,1) Hdatw (3,0) DocdHosn 8o

B8 RITroddan and, ‘k” Jevd
AP EAPCET 2021 _
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Question Number : 44 Question Id : 5447341484 Display Question Number : Yes Is Question

Mandatory : No

The equation of a line though the point (1,2) whose distance from the point (3,1) has the greatest

value 18

(3,1) Dotiosd) dods 63 cror) €9, (1,2) Dotoid) oot el #6 B oRosdm

Options:

1@ X=X

5> % y=x+1
3 x X+2y =5
4 u S 3x —1
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Question Number : 45 Question Id : 5447341485 Display Question Number : Yes Is Question

Mandatory : No

[dentify the point on the line 2x + 3y + 7 = 0. which 1s at a distance of +3 units from (1,-3).

(1,-3) Dodosd) Aot 21 + 3y +7 = 0 2698 +3 A Grded” Gol Dotdiy)

QOB

Options:
(«Jﬁ+9 —3\/13+6)
. wX W " WD

pE,

2. %

(m-g *3\/13+6)
3. ¢ m ’ v’ﬁ

V13+9 3y13-6
M ol 3

Question Number : 46 Question Id : 5447341486 Display Question Number : Yes Is Question

Mandatory : No

A person standing at the junction (crossing) of 2 straight paths represented by the equations
2x =3y +4 =0and 3x + 4y — 5 = 0. wants to reach the path whose equation 1s 6x — 7y +

8 = 0 1n the least time. then the equation of the path he should follow 1s

20-3y+4=0,3x +4y -5 = 0 20860 ardodd 2 G 570 &red Aol w8
(8 woedB 6x — 7y + 8 = 0 Ardoid ATy 6O 38y TVAES’ BEOE TV
SRODENT) (0. YN €8 (8 BRDBOBIVD ATER) HRLSGEY

Options:

. % 119x =102y — 125 =0
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5 » 119x + 102y — 125 = 0

5 102x + 119y —125 =0

i u 102x + 119y + 125 =0

Question Number : 47 Question Id : 5447341487 Display Question Number : Yes Is Question
Mandatory : No

Which among the following represents the combined equation of a pair of lines through point

(1,0) and parallel to the lines represented by 2x% — xy — y* = 0.

(1,0) oo thor F'dkor, 247 — xy — % = 0 RGN APdo VEVBaraLHT) V8

Qo800 ol ROEVBRTatr) O GERAN

Options:
1 % 2x2 —xy—2y*+4x—y=6
5 % 2x%2 —xy—y?* —4x—y+2=0

3 o 2x> —xy—y*—4x+v+2=0

i % 2x2 —xy—yi—4x—y=2

Question Number : 48 Question Id : 5447341488 Display Question Number : Yes Is Question
Mandatory : No
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The slopes of the lines represented by x + 2hxy + 2y? = 0 are in the ratio (1: 2) then h =
x? + 2hxy + 2y% = 0 Ardod B0 Treen 1: 2 36" &ot h =

Options:

1
i o
" 2

1. %

3
e
2.V 2

Question Number : 49 Question Id : 5447341489 Display Question Number : Yes Is Question
Mandatory : No

Two of the lines represented by the equation ay* + bxy® + cx?y? + dx®y + ex* = 0 will be
perpendicular, then

ay* 4 bxy® + ex?y? +dx’y + ex* = 0 2ot Bpwe’ Boch Bwen wEEAEEE
VO G0l WYY

Options:
., (b+d)(ad+be)+(e—a)’(a+c+e)=0

, x (b+d)(ad+be)+(e+a)(atct+e)=0
3« (b—d)(ad—Dbe)+(e—a)(atc+e)=0

4 % (b—d)(ad —Dbe) + (e + a)’(a+c+e)=0
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Question Number : 50 Question Id : 5447341490 Display Question Number : Yes Is Question
Mandatory : No

If the lines x% 4 2xy — 35y% —4x + 44y — 12 =0 and 5x + ky — 8 = 0 are concurrent
then *k " equals

2+ 2xy — 35y% — 4x + 44y — 12 = 0 208050 5x + ky — 8 = 0 0¥ B0 WAVIE
eod. ‘k’ dend

Options:
4

1. %

2. % 3

Question Number : 51 Question Id : 5447341491 Display Question Number : Yes Is Question
Mandatory : No

If the lines x + 2y — 5 = 0 and 3x — y — 1 = 0 denote two diameters of a circle of radius 5

units. then the equation of the circle 1s

5 Pl TG0 (10 28 3B GS), Botd TRIVR ¥ +2y — 5 = 0 LBk 3x -
y — 1 = 0 &3 B0t 2600 APDD, & B AVSEHAD

Options:
x2+y*-2x+4y—-20=0

1. 8
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, ¢ X+ y?—2x—4y—-20=0

s x X +y* +2x—4y+20=0

ax X>+y*+2x+4y+20=0

Question Number : 52 Question Id : 5447341492 Display Question Number : Yes Is Question
Mandatory : No

The equation of polar of (1, 1) with respect to the circle x* + y> + 4x + 6y -3 =01s

v 43P +4r 6y -3 =0 3,850 gy (1,1) Dochid abog), 6300 SHICT RN

Options:
1 % 2x+3y—1=0

> # 3x+4y+8=0

3 ® 4x+3y+2=0

4-_\J3.1‘+4J’+2=0

Question Number : 53 Question Id : 5447341493 Display Question Number : Yes Is Question
Mandatory : No

The equation of the circle which touches the x-axis and y-axis at the pomts (1,0) and (0,1)
respectively 1s

x-0) (1,0)36, y-om) (0,1) 36 dydoid B8 S0
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L X2+ yvi—4y+3=0

1. %
, x X' +y*—2y+2=0
3 % X2 +y*P—2x—2y+2=0

-2 2 _ ek 14 i
i ™ +3 2x —2y+1=0

Question Number : 54 Question Id : 5447341494 Display Question Number : Yes Is Question
Mandatory : No

The equations of the tangent to the circle 5x* + 5y® = 1 parallel to the line 3x + 4y = 1 are

31 + 4y = 1 26¥82% RATed6ANT ot 51° +5y° = 1 578 y6\30 eaky 36
82 HaDS6HA

Options:

, » 3x+4y=12V5

> ¢ 3x+4y =+V5

[l
[+
2.
(&) |

3 # 6x + 8_1’

—

4 % 3X+4y=13V5

Question Number : 55 Question Id : 5447341495 Display Question Number : Yes Is Question
Mandatory : No
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The angle between circles x* + y2 + 2x + 4y + 1 =0and x> + y? - 2x + 6y -3 =0 is:

C+y%+ 20 +4y+1=030080w x° +y7 - 2v + 6y~ 3 = 0 dygro o| Snadw

Options:

Cos™1 (\{%)
v 7 ()

Cos™1! (\/31_1)
3.

1.¢

Cos™ ! (

S e
p—

Question Number : 56 Question Id : 5447341496 Display Question Number : Yes Is Question
Mandatory : No

The locus of the centers of the circles that are passing through the intersection of the circles
+yi=land x* +y*-2x+y=0is

¥4yt =1 808080 1% +y% - 2x + y = 0 3570 Dotd Dot Mot Tab Sz
SR Dot

Options:

a line whose equationis x + 2y = 0

| @ X1+ 2y =0325rd0d o

a circle

L xS 3350
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a parabola
L 228 DTV

a line whose equationis 2x — y = 0
2x — v = 0 2o B

Question Number : 57 Question Id : 5447341497 Display Question Number : Yes Is Question
Mandatory : No

The equation of the directrix of parabola y> —x + 4y + 5= 01s

V2= x+4y 45 = 0 HOH00IS (10 DoHABD DB

Options:
1. % 4y -3 =0

2‘_\;;41’—3:0
3Ix —4 =

3, %

x 3Y— 4=

Question Number : 58 Question Id : 5447341498 Display Question Number : Yes Is Question
Mandatory : No
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The equation of an ellipse m its standard form. given the distance between its foci 15 2 units

4 S
and the length of its latus rectum 1s 5 units, 18

15
TEO 6] Grdo 2 0L, Hdak THvowo JED) s 0L ond, & &g.bae;s;in
Q) DRVSEEA

Options:
1 % 15x% +4y*> =15

, % 4x* +15y° = 60
3 ¢ 1522 + 16y° = 240

4 x 16x* +15y% = 40

Question Number : 59 Question Id : 5447341499 Display Question Number : Yes Is Question
Mandatory : No

If the latus rectum subtends a right angle at center of the hyperbola. then its eccentricity 1s:

28 OIVTHVALIN S, TDoto, T Sogle 3¢ Vot ) 60D, ¢
BADEI0HA AE), 68088

Options:
V13
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Question Number : 60 Question Id : 5447341500 Display Question Number : Yes Is Question
Mandatory : No

If the lengths of projections of a line of length ‘" over the co-ordinate axes are [}, [, and [;

respectively. then 112 + 122 +1 32 =

NrOsTEoR. ‘' TEQ (0 28 Bar Motn dI0g) DI SR Iy, [, Sodokw I;

003, 112 + l; + I; IV

Options:
ZI*

1. %

Question Number : 61 Question Id : 5447341501 Display Question Number : Yes Is Question

Mandatory : No
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If the direction ratios of two lines are given by 3lm —4ln+mn=0and [ 4+ 2m + 3n = 0.
then the angle between the lines 1s

3lm —4ln +mn = 0 8080 [+ 2m + 3n = 0 2ECEFLD Bod) DEVEDY B rooaa'gvm
DY), & Bavw ock] Eaton Beviyaw.

Options:
i

1.¥ 2

w
2. % 3

Sk

chle‘:I

Question Number : 62 Question Id : 5447341502 Display Question Number : Yes Is Question
Mandatory : No

The perpendicular distance from origin to the plane x + 2y — 2z 4+ 5 = 0 equals units,

3PN Aot) X + 2y — 22 + 5 = 0 SRS (0 Lo ErEan

LN

Options:
3

1.8 D

5
2.¢ 3
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o |

(¥ |

Question Number : 63 Question Id : 5447341503 Display Question Number : Yes Is Question
Mandatory : No

; (2 + sin _1')
lim —
x—-o\ x2+4+3

Options:

1. w0

Question Number : 64 Question Id : 5447341504 Display Question Number : Yes Is Question
Mandatory : No

1
If [ .] here denotes the greatest integer function. lim x”’ '—3] =
x—0 X

1
- - ' - | . ? — —
Qs), ¢ d&g .ng'os g;"boo:irbl ar&gaélggcné. ;ll_r’rij X [x3] —
Options:
1

1. %
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2.v 0
3. % —1

Does not exist

| .'35;53’1::@&» =l b
4, % @

Question Number : 65 Question Id : 5447341505 Display Question Number : Yes Is Question
Mandatory : No

If lim {1+ xlog(1+ az)]lfx =2asin®@,a >0 and 6 € R. then

x-=0

lim {1 + xlog(1+ ﬂz)}”x = 2asin?f#,a > 0 80k 6 € R eo0d

x—0
Options:
T
P=nnt+t—.,MEZ)
1.¢ .
T .
8 =20+ —. (R EZ)
2
.. "
T
=n+— . (nEZ)
3, % .
T :
8=nnt—,;, (nEZ)
4, % %

Question Number : 66 Question Id : 5447341506 Display Question Number : Yes Is Question
Mandatory : No
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The set of all points where the function f(x) = 2x|x| is differentiable is

f(x) = 2x]x| & HDoaaw O DA B DotdHo 96 OISV BB’

Options:

1, v (590,0)

3 % (0,0)

Question Number : 67 Question Id : 5447341507 Display Question Number : Yes Is Question
Mandatory : No

If p(x) is a polynomial of degree 3 which satisfies p” (1) = 0 and p"'(1) = 6. then p"(0) =

p(x) R0 28 3 & B6HS wIDG p"'(1) = 0 A p"'(1) = 6 VA VoD, VA,
p”({]) e L

Options:
1.% 6
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Question Number : 68 Question Id : 5447341508 Display Question Number : Yes Is Question
Mandatory : No

If 3f(x)—2f (%) = x, then f'(2) =

3f(x)—2f (%) = x eood. f'(2) =

Options:

Question Number : 69 Question Id : 5447341509 Display Question Number : Yes Is Question
Mandatory : No

If s = 60t — 5t denotes the distance covered by a particle in time ‘t". then the distance it
covers before coming to rest 1s units,

S BHUSHAN QNS TV ArT NG| RotofTa)) s = 60t — 5% AR, & S8
P Ardw Bdodd S DU";&}E@ JTot.

Options:
1. % 120

, x 720

3 % 240
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4. 180

Question Number : 70 Question Id : 5447341510 Display Question Number : Yes Is Question
Mandatory : No

If y=5x%46x+6.x =2and Ax = 0.001. then the values of Ay and dy respectively are:

y=5x% 4 6x + 6. x = 2 2080k Ax = 0.001 exond, Ay 28050 dy © Dewden SR

Options:
1. % 0.026 & 0.026005

2‘JO.026005 & 0.026

3 % 0.026005 & 0.26

4 % 0.0026 & 0.026

Question Number : 71 Question Id : 5447341511 Display Question Number : Yes Is Question
Mandatory : No

: ; : T : , T o
If the function f(x) = asin(x) + ?sm(&r) attains maximum value at x = Y then ‘a

equals

1
X = l;- 3¢ f(x) = asin(x) + ?siu(&t') 20080 (10 eI $OA &oll, N ‘a’
RV

Options:
1. % 3
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Question Number : 72 Question Id : 5447341512 Display Question Number : Yes Is Question
Mandatory : No

2 1
The points on the curve y = Y 4+ e x%, where the tangents make equal angles with

-

coordinate axes are

2 1

= v+ . 1?5850 O DothaPo) 36 fidd By6 3w WHsTd vard Smo
Bofosy?

Options:
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Question Number : 73 Question Id : 5447341513 Display Question Number : Yes Is Question

Mandatory : No

Through the point (4,5). a straight line is drawn making positive intercepts on the coordinate

axes. The area of the triangle thus formed is least. when the ratio of the intercepts on the x and

y axes 18

(4,5) Docdor) (ot J'ah 2,8 OVED BTV GTES WoB6DETVR AG 6N oB.
00, &5 3, vTVS DOD&ES [ZAVENS)) DT s:)f;.zp S 9EPRS X, V oddRelr AN

T G0GedTA.

Options:
T, % BEE

3. 485

4% 23

Question Number : 74 Question Id : 5447341514 Display Question Number : Yes Is Question

Mandatory : No

[cos Vx dx =

Options:

7 o 2vVx sinvVx + 2cosvVx + ¢

5> % 2y/xsinyx + 2sinyx + ¢

AP EAPCET 2021
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3 % 2Vxsinvx —2cosvVx + ¢

F=s e i | g
4 % vxcosvx —2sinvx + ¢

Question Number : 75 Question Id : 5447341515 Display Question Number : Yes Is Question
Mandatory : No

;a9 |
If [ L] dx = f(x) + c¢,then f(x) =

g ol B | , :
J dx = f(x) + ¢ @08, f(x) =

x*+1
Options:
1 _afmt1
e Tan )
1 & 1'4n'|12 _\'112_1_

Question Number : 76 Question Id : 5447341516 Display Question Number : Yes Is Question
Mandatory : No
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dx = Acos(4x) + B,then A= ___

i 1 + cos(4x)
f cot(x) — tan(x)

f 1 + cos(4x)

RECR ) — URER) dx = Acos(4x) + B ©®o0d A =

Options:
= |

4.« 8

Question Number : 77 Question Id : 5447341517 Display Question Number : Yes Is Question
Mandatory : No

J‘ dx -
V7 — 6x — x2

Options:

T Sinh"i(ng)+ c
5 3 log‘ng‘%-c
3.
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Question Number : 78 Question Id : 5447341518 Display Question Number : Yes Is Question
Mandatory : No

4
If [,\'y"xz —1 dx= (r('_k)ﬂ ,then aff =
1

4
[ xWx? —1 dx = a(k)’ eond,af =

1

Options:
9

1.% 2

Question Number : 79 Question Id : 5447341519 Display Question Number : Yes Is Question
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1

xe* g
J G+1DZ
0

Options:

Question Number : 80 Question Id : 5447341520 Display Question Number : Yes Is Question
Mandatory : No

e . dy
Let y = Y(x) be the solution of the differential equation = +ytanx =2x +x* tanx, x €

(-2_1: ,%) such that Y(0) = 1. then

: d
x€ (?ﬂ .%) VL) d—i Fytany = 2x + 1% tan x ©3570N0h HOEGFIE FEd y=Y(x)

90w, Y(0) = 1 eoond. e

Options:
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Physics
SectionId: 54473429
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 81 Question Id : 5447341521 Display Question Number : Yes Is Question
Mandatory : No

The book “Pisces of Physics™ has been written by

ik ”»

DS Brso

DHD D Has,

Options:
Newton

- MSQJ.S

Einstein

2DOHD
L T
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Archimedes

&) E~
3.“325 ~

Galileo

, « 008

Question Number : 82 Question Id : 5447341522 Display Question Number : Yes Is Question
Mandatory : No

Which quantity among the following has neither units nor dimensions?
& $08 T°S° HATETLD SOOI VLD T TAE T°F &7

Options:
Relative velocity

Relative density
@ FDE o

2
Angle
, x St
Energy
s

4, %

Question Number : 83 Question Id : 5447341523 Display Question Number : Yes Is Question

Mandatory : No
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Acceleration of a body whose displacement follows the equation 3s = 9t 4+ 5t is
3059 A eo3w RS0 35 = 9t + 5t? AN S(0HA

Options:

2. % 3

3. ¢ 3

Question Number : 84 Question Id : 5447341524 Display Question Number : Yes Is Question
Mandatory : No

When a body moves with a constant speed along a circle

TS0 SrGAS” 28 S0 N6 IS BB BIdLYNS

Options:

No acceleration 1s produced on the body
S SBETAS (1B 57

1.8

No work 1s done on 1t
, o S0P ES DD 2OEED

3%
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Its velocity remains constant
D90 f{gdoﬂ" Eotod

No force acts on the body

L SO DS LIVAD DD BODED

Question Number : 85 Question Id : 5447341525 Display Question Number : Yes Is Question
Mandatory : No
A particle of mass 5 kg 1s moving on a circle of radius 1 m with an angular velocity of

2rad.s™". The centripetal force is

5 kg @ 03 $BAR 28 S0 1 m TG DAY 28 5,83wp 2rad. s Eroh oS
SRV B. 9008 900 o’

Options:

, % 40N

4. v ¢ON

Question Number : 86 Question Id : 5447341526 Display Question Number : Yes Is Question

Mandatory : No
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A body of weight 64 N 1s pushed with just enough force to start it moving across a horizontal
floor and the same force continues to act afterwards. If the coefficients of static and dynamic

frictions are 0.8 and 0.6 respectively. the acceleration of the body will be

64 N 2rGo $OAS 28 DDA 2 BRVAT0BE S0 SOT MW w‘:)l Darfouw),
ST €3 20ANN §AF Ao, gas Q0030 (35S 'f.ngr:a 8IS0 otoam 0.8

2000k 0.6 0N, &8 W) AWS), SGEID dod?

Options:

0. 02g

Question Number : 87 Question Id : 5447341527 Display Question Number : Yes Is Question

Mandatory : No

An object is in equilibrium when four concurrent forces, L AN
Fy

acting in the same plane, are i the directions shown m the
figure. Find the magnitudes of F; and F;.

D0308° BrR DBV 4 VNG LY IV 28 aN

50 awfgw &3) 8. wond Fy, F, v D84rmwren

Options:
2 = B 20 =
i % A 3
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il

2.9

Sk
>
go
|G
=

il
=
R0

il
=

Question Number : 88 Question Id : 5447341528 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): In an elastic collision of two billiard balls. the total K.E. is conserved during
the short time of collision of the balls (1.e. when they are in contact),

Reason (R): Energy spent against friction does not follow the law of conservation of energy.

ARS8 (A) : Bocd eb&owgh L08R ’gag:ss ODIrHA0S", 2B (G2 3§ Lodow
ARy BAVTS TORY' B[ Do,
S0 (R) : 20008 S{OS0MT 61008 3§ 8 D] b Fotsed

Options:

Both A and R are true and R 1s a correct explanation for A
| A 2008030 R Todoe 28 290050. R, A 5 209003 D662

Both A and R are true but R 1s not a correct explanation for A
, w A 200030 R Socir 20 290080). R, A £ 20809000 D66 5°CD

A i1s true. R 1s false

3 % A D0 220008, R D0 2200008 5°¢

4.
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A is false. R 1s false
A 200030 R D0 890008 5°)

Question Number : 89 Question Id : 5447341529 Display Question Number : Yes Is Question
Mandatory : No

A bullet of mass 30 g moving with 700 m.s™* collides with a block of mass 4 kg hanging by
a string of length 0.4 m. After collision, the block rises to a height of 0.2 m. Then find the

velocity of the bullet when it comes out of the block

04m T o Joré &is) Jerddoui.d 4 kg 303 o B, 30 g SS0°3 o
gt 700 m. s 3308 508, eDIrSD 8T8 8 B2 0.2m dos S,
G B) Aot WADLK) SN TR Dridw

Options:

1% 200 m.s~ !

-1
5 433 m.s

5 x 400 m.s™

4w 332 m.s™*

Question Number : 90 Question Id : 5447341530 Display Question Number : Yes Is Question
Mandatory : No
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A body of mass 3 kg is moving with a velocity of 8m.s™* collides head on with another body of

mass 1 kg. moving in the opposite direction with a velocity of 4 m.s™*. After the collision. if the
two bodies stick together and move. they move with a common velocity

3kg §3(or3 $D0D 8 S0 8m.s™! Dhaod B, oIS OB B3 Sefetod
SR0%) 1 kg @503 6000 2000308 S0P e eDIrSAY FE'$) 6. eDardsw
SIS, & Toth) HPHW BAE) J 28 e.:.uéd Sriod 0008, & eméc‘. Mo

Options:

_ -1
1 5 m.s

- T Wz

3 » 10 ms™

-1
4 % 14 m.s

Question Number : 91 Question Id : 5447341531 Display Question Number : Yes Is Question
Mandatory : No

Moment of inertia of a disc of radius ‘R” about a diametric axis is 25 kg.m*. The moment of
mertia of the disc about a parallel axis at a distance ‘R /2" from the centre is

‘R’ 353“3:.‘113 10 8 D¥) BES PRSI T T VLI DEJ0MT 25 kg.m” . Sogdw
ol ‘R/2" Gro08" 257080 053 DEJ0MT D GInE) 2GS LD Jod?

Options:

. % 31.25 kg.m?

> ®» 37.5 kg.m*

3 » 50 kg.m?
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4 % 625 kg.m’

Question Number : 92 Question Id : 5447341532 Display Question Number : Yes Is Question
Mandatory : No

A wheel 15 rotating at 480 rpm. Find the magnitude of angular acceleration required to stop

the wheel 1 8 seconds?

208 1980 480 rpm BN FoETen amaia. e WSO 8 DS 5°0A08° DT°A)
ROE"DS 53, & Erdad Bi6ra0 ) HOATHO Jos?

Options:

2 -2
1 2w rad.s
> % 25W rad.s™?

3 x 2rad.s™?

- g
4 % 3.5 rad.s

Question Number : 93 Question Id : 5447341533 Display Question Number : Yes Is Question
Mandatory : No
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Three thin rods each of length ‘L’ and mass ‘M’ are placed along x. y and z axes in such a

way that one end of each of the rods is at the origin. The moment of mertia of this system

about z-axis 1s:
09 8¢ T 'L’ 200 GO M’ i Jarch) Hesd

SO 1. y 0Ba%0 z BTV Jowd: &odd HO Sa dNE) DG

@R R DotdQPY G Gt . Z VLN DO & ;555%
RESQ PPN od?

Options:
2 ML?

Question Number : 94 Question Id : 5447341534 Display Question Number : Yes Is Question
Mandatory : No

The displacement of a simple harmonic motion of amplitude 6 cm when its kinetic energy 1s

equal to its potential energy is

1038, HO$3 DT, 6 cm S0 DOWA (0 VOVIFTY)E BB Fdgotan

Options:
1% 2V2 em
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> % 2 cm

3 3vV2 cm

3

- Ccm

Question Number : 95 Question Id : 5447341535 Display Question Number : Yes Is Question
Mandatory : No

A particle executing simple harmonic motion has a maximum speed of 40 m.s™* and

maximum acceleration of 60 m.s 2. The period of oscillation is

208 €890 40 m. st 033 JAS X 200050 60 m. s> (1033 asomanSm OV o)
BORA0 B8, TR EVTHEHA

Options:
41
—

1.¢ 3

Question Number : 96 Question Id : 5447341536 Display Question Number : Yes Is Question
Mandatory : No
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An artificial satellite moving in a circular orbit at a distance h from the centre of the earth has a

total energy E,. Then 1ts Potential energy 1s

ZPad Sogdn Axodt h GrOANG” 203 HTT6 S48 AOMAD) 28 8B EBRTAD
Aodaw 38 E,500 68 8. o 202 ¥

Options:

4‘“/259

Question Number : 97 Question Id : 5447341537 Display Question Number : Yes Is Question
Mandatory : No

Find the angular speed of rotation of the earth so that the apparent-‘g" at the equator becomes
(1/6)™" of its original value. (R = 6.4 X 10° m)

1
Br 068 56 ‘g aog) ¢85 Deosd ArHBBLAN 3¢ A et — 3 3080 3008
Ard aiog), E'edat St (R =64 x 10°m)

Options:

, w13% 107° rad.s™ !

5 % 875X 107* rad.s™*

-3 -1
3 & 1.14 X 107° rad.s
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4 % 2.6x10° rad.s™*

Question Number : 98 Question Id : 5447341538 Display Question Number : Yes Is Question
Mandatory : No

The length of a rod under longitudinal tension T is L; and that under longitudinal tension T, is

L,. What 1s the actual length of the rod. i the absence of tensions?

28 G DD o3, S3de Ty, 20805 T, © 9 & e 3080 L,
208050 L, . B8 HIASARD G 8¢ T

Options:
LT, — LT
% T-Ti
LT, — LTy
L« Ta+Ti
L Ty — LT
3 % I +T4
LiT; — LTy
- — T
A 2~y

Question Number : 99 Question Id : 5447341539 Display Question Number : Yes Is Question
Mandatory : No

Bemnoulli’s theorem is a consequence of

ﬁdrla i‘atg*oe‘.faan B a3, :365;5.3%;5;3?
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Conservation of mass

Q0" F QSH(EH DO
1‘3;;“"’?50“ ?55

Conservation of energy

33 .:)@565 B lout Pt Pl
2. =

Conservation of linear momentum

L 5 ODOD B350 DSHAT Do

Conservation of angular momentum

4 v SEOL G55 Degeg Do

Question Number : 100 Question Id : 5447341540 Display Question Number : Yes Is Question
Mandatory : No

Hairs of shaving brush cling together when it is removed from water due to

—_—

Do 83 &) AV’ ol WAHLK BRJYYE BB’ oknsen BAGT BBy D
GoteTrS (1 S°6AN

Options:
Force of attraction between hairs
, Q08DSL DG SEE

™

Surface tension

5 ¢ SVONO

Viscosity of water

. 2 58 aB0E), Ealgé
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Characteristic property of hairs
4 % DoV DVEE GO D0

Question Number : 101 Question Id : 5447341541 Display Question Number : Yes Is Question
Mandatory : No

Oxygen boils at —183 °C. This temperature 1s approximately

e38\2 —183 °C DG M. & &X' RousoowsOn

Options:
1 % 215 °F

, o —297 °F
2 % 329°F

4 % 361°F

Question Number : 102 Question Id : 5447341542 Display Question Number : Yes Is Question
Mandatory : No

The water on the surface of a lake 15 just about to freeze. The most likely temperature at the
bottom of the lake is

8 0y G308) GOOBVAN A (iE 0B, VO BN TN God 618 Jod?

Options:
1. ¢ 4 °C

2,8 W%

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

3 % —4°C

« —273°C

Question Number : 103 Question Id : 5447341543 Display Question Number : Yes Is Question
Mandatory : No

Three designs are proposed for an engine which is to operate between 500 K and 300 K. Design
A clams to produce 150 J of work per 1000 J of heat input. design B 450 J of work per 1000 J
and design C 300 I of work per 1000 J. Which of the designs would you choose?

500 K 8080 300 K T tide) Socs) DB 2,8 aodidn 68 Jurcd dduraren D3-dods
wEo. A 30rT 98 1000 7 &8 1501 59, B 83ur 8 10007 £ 4501 5, €
e 98 10007 8 3007 DI &y Brow. DBS" D SAPT D) Jothoiotrd)?

Options:
A

1. %

None 1s suitable
08 DBz

Question Number : 104 Question Id : 5447341544 Display Question Number : Yes Is Question
Mandatory : No
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A Camot engine having an efficiency 1/5 as a heat engine, 1s used as a refrigerator. If the work done on

the system 1s 50 J, the amount of energy absorbed from the reservoir at lower temperature is

w8 &2 ododan BEA6° 1/5 & Sodd GES ) 48 5B ) Cmog“ﬂl hodedn 0o TETE.
300 2830 0D 50 wand 88y &8 56 00N Aol § aoted 33

Options:
% 901J

1
PR 99J

2 v 2007

4 % 1J

Question Number : 105 Question Id : 5447341545 Display Question Number : Yes Is Question

Mandatory : No

A Carnot engine whose efficiency 1s 40 % takes in heat from source maintamed at a temperature

of 500 K. It 1s desired to have an engine of efficiency 60 %. Then. the intake temperature for
the same exhaust (sink) temperature must be

40 % &m%m &3) 50 oogddn 500 K eg‘ga O(TOOWE 28 BS0 Aot GDAVD
SR8 otwod. & Ao CNg) aumg&an 60 %. &or E oS, 0B Do &t 34
2d¢o 618 dod &orrd?

Options:

. % 1200K

, » 750K
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« 600 K

, » 800K

Question Number : 106 Question Id : 5447341546 Display Question Number : Yes Is Question
Mandatory : No

A vessel has 6 g of oxygen at pressure ‘P’ and temperature 400 K. A small hole 1s made 1n 1t

so that oxygen leaks out. How much oxygen has leaked out if the final pressure 1s —2' and final

temperature 1s 300 K ?

‘P a0 Bk 400 K el'00 36 w8 Y 6 g ¥S RS TodH AN 6. &
FEL 0D Gogad SO0 8813 Tk LerdradHD. 300 K egrja 208050

P
RPN =59 Do B8RS TOINK) DWSER?

Options:
1% 28

Question Number : 107 Question Id : 5447341547 Display Question Number : Yes Is Question
Mandatory : No
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At what temperature does the velocity of sound in air increase by 10% in comparision with
velocity at 0°C 7

0°C 3¢ 96" 6 Htawd IR, 10% deorbee agge 36 Seord00B?

Options:
| % 45°C

5 @ BI%
2 u P

2 u T6%C

Question Number : 108 Question Id : 5447341548 Display Question Number : Yes Is Question
Mandatory : No

s gt iy . 4 ; : i oy 9 "
If refractive mdex of water 1s - and that of a given slab immersed i 1t 1s = The value of critical

angle for a ray of light tending to go from glass to water 1s:

4 <
D8 HSB5D (oeasaw ~ ooty 6" 200080C 28 e B2 SSTA HraSAN =
eod 2 Aod NBE'DS Hatredod w8 Tod S6m0 g o8 €m0

Options:
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Question Number : 109 Question Id : 5447341549 Display Question Number : Yes Is Question
Mandatory : No

In a double shit experiment. when the distance between slits 15 increased 10 times. while their

distance from the screen 1s halved, then the fringe width

208 Tot VLY HArdane’, DB B o AP 10 0 od, WO bak 6%
206 0 GrT) #orin B, DB eevy DYA0A?

Options:
1, T -
Becomes = times the original

1
(—2—0") 0L QDBVH
1=

1 ‘ 2 B
Becomes (ﬁ) times the original

1
. (ﬁ) (o[ AV e9: B d

Remains the same

| GADT Sotwod
3.8 @

5 :
Becomes (E) times the origmal

(2) o o

4. %
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Question Number : 110 Question Id : 5447341550 Display Question Number : Yes Is Question
Mandatory : No

Two charges +80 uC and 420 uC are separated by a distance m air. An unknown third charge
q 15 placed at the centre of the line jomning the two charges. If the charges are i equilibrum,

then g =

+80 uC 50800 +20 uC 537700 TS’ Eodd GrANG” SDESC &) 0. & Bothd
3T $95 B 6; Dodo 3¢ g 03 3DV Jurtl BITI) God, BTV o8
DBV gw‘ Gond, q =

Options:

. —20 uC
5 % +20 uC
3 % —10 uC
4 % —40 uC

Question Number : 111 Question Id : 5447341551 Display Question Number : Yes Is Question
Mandatory : No

If the circumference of a sphere 1s 3 m. the capacitance of the sphere in water is

(dielectric constant of water = 80)

28 Bean winsod 3 m wand D HeAn A08), SOy dod? (D xS B

fgﬂ‘osm = 80)
Options:
1.« 4250 pF
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, « 2760 pF

. x 2780 pF

, w 424 pF

Question Number : 112 Question Id : 5447341552 Display Question Number : Yes Is Question
Mandatory : No

An electric dipole 1s placed in a non-uniform electric field. Then net:
28 SO G DAAS 2B0S" 28 DAS BTV G, TAP DABOIW

Options:

force experienced is zero while torque is not zero
SURIEL SIS 55 eG), BPD(RA0 S

1%

force experienced 1s zero and torque 1s also zero

> % 20000 Hodain eJ"SZ’ Codr wasa»

both force and torque are not zero
2O 2083 €78) . Boder BPRAW Y

force experienced is not zero while torque may be zero depending on its orientation

BRVH AP 5 D) PG, TR B3R i AP0 SHK
4. & A

Question Number : 113 Question Id : 5447341553 Display Question Number : Yes Is Question
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The null pont of a potentiometer with a cell of emf ‘&’ 1s obtained at a distance ‘" on the wire

then

D e 6d) usR0 $9AD TOIrE 5 8 vodowd Te I
DBOBREIR. By

Options:
1 o € Xl

23@1’50{12

1
/,‘EOCT

E K=
4, ®

AP EAPCET 2021

Question Number : 114 Question Id : 5447341554 Display Question Number : Yes Is Question

Mandatory : No

Figure shows a straight wire placed between the pole pieces of a

magnet. Induced emf will be developed across the ends of the
wire when 1t 1s moved towards

008" B Do 28 SR D B LYY 08 BTV 0

Goustaciod). 0B Ay A B3’ SANNY YW, B VAdY

SVal 2.0°.8) 200 B00H?

Options:
1.8 N
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3.« P

Question Number : 115 Question Id : 5447341555 Display Question Number : Yes Is Question
Mandatory : No

A solenoid has 2000 turns wound over a length of 0.30 m. The area of its cross-section is

1.2 X 10™% m. Around its central section. a coil of 300 turns is wound. If an initial current of 2 A

in the solenoid 1s reversed in 0.25 s. the e.m.f. induced 1n the coil 15 equal to:

0.30 m Tcka) $8A% 28 IDawd 2000 oy $BAG) 6. T ), LSS PFufdw
1.2 X 107 m. o o eried’, 300 chordy 8883 Sricioty &%) &. Fdrowét & &) &9
DT raw 24, 0.25 638" (38w 63" pdiroder B3, Aol 6' 908 .00 Jewd?

Options:

—
;g BRI ¥
—2

;% 6X1072V

, o 48 kV

Question Number : 116 Question Id : 5447341556 Display Question Number : Yes Is Question
Mandatory : No
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An ac source of angular frequency w 1s fed across a resistor R and a capacitor C in series. The
- - ; : @
current flowing in the circuit found to be 'I'. now the frequency of the source is changed to F

(mamtaining the same voltage) the current in the circuit 1s found to be halved. What 1s the

ratio of reactance to resistance at the original frequency?

8 DBGSA0 R 2Bk 33006 € 0k 36" Erdat FIYIAW w o AC 23508

DI, Soabine piran I, adsan FIfan + 4 306 (8 Sgé dgirs)
OOHE" DI DU A8, Bided TR 3 HIEELANID.
DO GANIL (0 Anyd

Options:
5
1. % .
3
-
2. %
3
5
3.+
7
5
4, ®

Question Number : 117 Question Id : 5447341557 Display Question Number : Yes Is Question

Mandatory : No
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An LC resonant circuit contains a 400 pF capacitor and an inductor of 400 uH. It is coupled to

an antenna. Wavelength of radiated electromagnetic wave 1s

28 LC 02076 500080 400 pF 837008 20805 400 pH 96579) $9Aand) 8. A

8 ©0DT) 8 Roakur) S0 BY, DA|BARF 08 Sdof DS6E Bori3G0 Dods?

Options:

e 754 m

> % 377m

3 % 377 cm

, % 796m

Question Number : 118 Question Id : 5447341558 Display Question Number : Yes Is Question
Mandatory : No

The ratio of speed of electrons in the first excited state of hydrogen atom to the speed of light

i1l Vacuum 1s . Given, Planck’s constant = 6.625 X 107** I. s and permittivity of free
space is 8.85 X 10712 F.m™?

PEED HOATEY ), 2O Gded Fod’ 63) oSS ey, I8, wr0e'
508 SRS v MG (08 o085026.25 X 107 .5, 8§ afradsdn cws)
20,826 =8.85 x 1072 F.m™")

Options:
—3
1 % 2X10

5 u 73X 107°
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-3
. 36x10

—y
4% 36.5 X 10

Question Number : 119 Question Id : 5447341559 Display Question Number : Yes Is Question
Mandatory : No

The following figure shows a logic gate circuit with mputs ‘4" and ‘B’ and output ‘", If the

voltage wave forms of 4, B and Y are as given. then the logic gate 1s

DA Totd) AP0 ‘4’ dakw ‘B, :)gm:m Yoo ész, m‘SU":)rl WA, dF
A, Bo 00050 ng Yoo vgeﬁ SGor200) RGN, & S6) T (6w

b L 3 L & L
1 I. E I E | E
A : : :
0 ; I f
A | Be——i a—
Logic Gate oY B
pa—y = i i e i
L
¥ - |
b= 4 1 51
Options:
1 NOR gate
5 % OR gate
. AND gate
. =
% NAND gate
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Question Number : 120 Question Id : 5447341560 Display Question Number : Yes Is Question
Mandatory : No

In an amplitude modulation with modulation index 0.5. the ratio of the amplitude of the carrier

wave to that of the side band 1n the modulated wave 1s

SrEGAS MRS 0.5 &J) 003 5O wa:gasa‘, Tirg Sdolt S0 HOMNAS
308080 ATENTRS Sdofl 1S :aé E0DNDBNSS SVAGIURVAN

Options:
et
2 010
3.0 X5
s m2%1

Chemistry
Section Id : 54473430
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes

Clear Response :

Question Number : 121 Question Id : 5447341561 Display Question Number : Yes Is Question
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Mandatory : No

Which energy level transition among the following will have the least wavelength?
Sob égg"w DBIETVS” DB WSOy 36oAOT (D) $9A &oton?

Options:

L

n

S ?Iz
2. %

4

a2 B

ey —= R

Question Number : 122 Question Id : 5447341562 Display Question Number : Yes Is Question
Mandatory : No

Calculate the de Broglie's wavelength of an electron residing in the 2% Bohr’s orbit of a

Hydrogen atom. (Bohr’s radius, a, = 0.529 A)

TERD DOArtYS’ Bokd &8°6 Fod’ (0 TS WS au'h 36030

(65%6 g0 a, = 0.529 A)

Options:
¢ 0.2116 nm

P

, o 21167 A

3 x 2116 m
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4% 2.116 um

Question Number : 123 Question Id : 5447341563 Display Question Number : Yes Is Question
Mandatory : No

If the wavelength of the first line n Balmer series 1s 656 nm. then the wavelengths of its

second lime and limiting line respectively are

P08 BedeS” A0cstd By B édoﬁgggn 656 nm oNA, T Totisd 5 Bk 150

020 SGolBET" LD SN
<5 §

Options:

. % 4859 nm & 434 nm

4859 nm & 364.4nm
2.

3 % 715nm & 434 nm

4 % 608 nm & 415.2nm

Question Number : 124 Question Id : 5447341564 Display Question Number : Yes Is Question
Mandatory : No

Which of the following compounds is expected to be colored?

$0d :b;‘))g.‘ia“mﬁ‘ DA Gord £OA oo 2 otddeioN ?

Options:

1 % ZnS0,
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% MgClz
3 CuCl,

4 % AgCl

Question Number : 125 Question Id : 5447341565 Display Question Number : Yes Is Question
Mandatory : No

: O L. . . .
The formation of oxide ion 0° from oxygen atom requires an exothermic reaction. followed by an

endothermic step as shown below. The process of formation of 0> in gas phase is unfavorable
(AH® = 4ve), even though it has stable configuration of the nearest noble gas, Neon. This is

because

9"
0" +e-— 0% : AH® = 4760 kJ.mol™
(g) (9)

0, te —0 AHO = —141 kJ.mol ™

Sofd TP DAV DOATEY) Aod, BF\E 0% easrd DOYEOLES JE8 3" GRATES
G50, S0 Dotead (538" GRS w3 200D, VOIFAL) R 68,0 TR Ne o

68 D\88, OO’ 07 D6y Lo (AHE = +ve). dockidwid BT
o -, o 4 ]
0y te — O{g} . AH¥ = -141kJI.mol

= 3 =5 O _ 11
O{g)%-e —>O(g}. AH® = +760 kJ.mol

Options:
0°~ has larger size than that of Neon

| OIS Sol3 077 eaird BATERe DEHG SO0 IV,

Oxygen 1s more electronegative than Neon
QoIS Sold e8RS VS amm&)@swaésej £OAI0CL SOD.

2. %
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O has larger size than oxygen atom

uébea..s DOATEND) S08 0 903D DBATE0 DEE STO0 JON.

Electron repulsion in oxide 10n 1s more which over comes the stability achieved by noble

gas configuration

GIR T VTR DT[N0 TFotees® vDoth) %désu got) 9asrD &° VT

DSEE HOD S VNS0 BAIVOELIVI.
4.« © e

Question Number : 126 Question Id : 5447341566 Display Question Number : Yes Is Question

Mandatory : No

Identify the correct order of ionic radii of the given species:

$0d SAr0e5° eairds mg&g“v D0 2200 2080

Options:

T &4 - - < EO + - =
_ Mn > > Se > '8

1. ®

3 VSZ_ S K'Y S S s >t s

Question Number : 127 Question Id : 5447341567 Display Question Number : Yes Is Question

Mandatory : No
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Arrange the following species in the correct order of their stabilities,

o8 oV T8 E?"’-”S” A8 S0 A6yl

Nz_, CZ!NE'Z*OZ_

Options:
- n2- -
11@,!\?92*::02 < (C; <N,

2._ -
) % Ne;, < C; < 05 < N,

, x N2 <Nj <03 <G

2..._ S
4$€N€2‘i02 'CiNz C::CZ

Question Number : 128 Question Id : 5447341568 Display Question Number : Yes Is Question
Mandatory : No

The different types of bonds present in CuS0, - 5 H,0 are

CuS0, -5 H,0 &° 6o tobre) 6830

Options:

Only Ionic and Covalent
9037 DS SO0 DAAT2RAOD AT

1. %

Only Ionic. Covalent and Coordinate covalent
| 4 OO, BB LBAHD VDBVBLODH VLR TG

Only Covalent, Coordinate covalent and Hydrogen bonding
RBCIPRAAD, VB/LOD VRETTRAD SB050 FERS WoEdw Srgddd
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Tonic. Covalent. Coordinate covalent. Hydrogen bonding only
9IRS, DBV BAAD, VARIAD DACIT2IOD DB TERD LoD ArD

4,

Question Number : 129 Question Id : 5447341569 Display Question Number : Yes Is Question

Mandatory : No

A real gas would be most likely to obey the 1deal gas laws at

28 A T050Y SBdo0E" 866) Tratn aHAr) BBA B &roddh)y

Options:
low temperature and low pressure

o0 &' 20805 WOy DEdo
1, % =

high temperature and low pressure

S &' 2000 O HEDO
2.¢ =

high temperature and high pressure

088 &Y' J0BO5L BS Do
3. %

low temperature and high pressure

L 20 S0 2B 06s Do

Question Number : 130 Question Id : 5447341570 Display Question Number : Yes Is Question

Mandatory : No

Among the following, identify the gas which has the greatest average speed of its molecules?

$08 TaiNHVS’ @ ToINY) 18R it Sy $0R Gotod?
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Options:
0.5 mol of 0, at 500 K
- 500 K ;'xg 0.5 o 0,

0.2mol of CO, at 400 K

L 200K 56 0.2 3revw €O

1.0 mol of He at 200 K

200 K 56 1.0 200 He
3.V -

0.4 mol of NH; at 300 K
. 300 K e 0.4 S0 NH,

Question Number : 131 Question Id : 5447341571 Display Question Number : Yes Is Question
Mandatory : No

3.011 x 10%? atoms of an element weigh 1.15gm. The atomic mass of the element is

28 rusdn awg) 3.011 X 107 Hearme & 115gm. & rusy GoO3

Options:

1 % 10 amu

> % 2.3 amu

3 % 35.5 amu

2 & 23 amu
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Question Number : 132 Question Id : 5447341572 Display Question Number : Yes Is Question
Mandatory : No

In Feyqs0 , Fe is present in +2 and + 3 oxidation state, what is the mole-fraction of Fe** in

the compound?

Feggs0 &', Fe Gwg), 58y36e:0 20 +2 B +3. & A0 ¥dANe’ Fe?* 2rd
&P doth?

Options:
12/25

1. %

, u Z5/12

5 » 1/12

2 »11/22

Question Number : 133 Question Id : 5447341573 Display Question Number : Yes Is Question
Mandatory : No

The change in internal energy equals

©088S $8¢5°D Arddy £ DDA

Options:

Isothermal work
"rO&J"QS e

Isochoric work

R0 ADBATRHAD D
2‘ ® @
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Isobaric work
20 DD DD

Adiabatic work

ol %366%3;5 25

AP EAPCET 2021

Question Number : 134 Question Id : 5447341574 Display Question Number : Yes Is Question

Mandatory : No

If the molar solubility (in mol. L™*) of a sparingly soluble salt AB 4 15 ‘5", and the corresponding

solubility product 1s ‘Kg, ", then § in terms of K, 1s given by the relation

B, 31 887 AB, & w0 Ang), Arerd Gakabd ‘S, LA S otodS TIHLT
Ot ‘Kg," 0008, § dakn K, © 206 dototo
@

Options:

. ( Ksp )1/4
" 128

T, 256
s=(256K,)"
3. %
1/4
i s$={128R,; )

AP EAPCET 2021

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



AP EAPCET 2021

Question Number : 135 Question Id : 5447341575 Display Question Number : Yes Is Question
Mandatory : No

RO — e 1
Given hp for the reaction - C @ T EAQ:;] +EB

Then find the Hp for the reaction A(

(o) A2 fixed temperature is 0.25 atm™2.

a) +B{9J = C(g] at the same temperature.

N0 G ¢ ic =24 +1B el o6& K, Dend 0.25 atm >
@ £ 2 2@ Y 27" 270 5 P ' - '
A{g} + B{g) = c{.g} ) S6(% ©d eg"ga 36 K, DD dodh?

Options:

;@A

2. % 25

4, % 306

Question Number : 136 Question Id : 5447341576 Display Question Number : Yes Is Question
Mandatory : No

Which of the following solution produces H,0, on electrolysis?

& BHIIDND T’ DB DEoAFRRS" H,0, & Doy@usn?

Options:

. % 0.2NNaOH

, » 50% H,50,

o 2% H350,
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Question Number : 137 Question Id : 5447341577 Display Question Number : Yes Is Question
Mandatory : No

The tendency of forming chloride hydrates of alkaline earth metals is in the order of

P00 )98 G0 §06 G VR 6108 R(EPHA A0S, S

Options:
1 » Ba>S5r, Ca> Mg

> %« Sr>Ba, Mg > Ca

3JMg::Ca, Sr > Ba

4% Mg > Sr > Ca > Ba

Question Number : 138 Question Id : 5447341578 Display Question Number : Yes Is Question
Mandatory : No

The product(s) of the reaction NaBH, + I, —— ‘Products” 1s/are
& S8 z:scslges‘ DB GO\ A / &S yTY e

NaBH4 + I; — &9\ o

Options:

. BoHylp + 2 Nal

, % B2Hg + NaH + HI
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3 ¢ BZHG + 2 Nal + H2

4 » 2NaBH,I

Question Number : 139 Question Id : 5447341579 Display Question Number : Yes Is Question
Mandatory : No

Match the following?

Material Application

(1)  Asa catalyst

(a) Silicones
(1) Greases

(1) In surgical implants

(b) Zeolites

(iv) Asion exchangers

S0d TN AP ?
‘:Ja'g'w (FHeTob bl g IV
(1) &3)8s0m
(a) DO Dew ~—
(1) Hereds
(iii) $R DS FETOS’
(b) 2airgeen =
(1Iv) 0Ird Do
Options:

1.%5”(a_ii):(ﬂ—iii)j(b_i)’(b_iv)
, » (a—i),(a—iii),(b—ii),(b—iv)

3 x (a—ii),(a—iv),(b—1i),(B—iii)
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4 % (a—1),(a—iv),(b—ii), (b—iii)

Question Number : 140 Question Id : 5447341580 Display Question Number : Yes Is Question
Mandatory : No

The correct order of increasing stabilities of the following carbocations.
(1)  Allyl carbocation
(1) Ethyl carbocation
(1) Benzyl carbocation
(1v) Isobutyl carbocation
208 58 SRS ?{gd@“&@ 38376 5000 DRNINAW.
(i) oS s**E?as“e.)o:Sr.S
(i) &3S s*'b“a?e.)w.ﬁ
(1i1) &30z sva"asve.sows
(1v) mﬁ‘m}g@e_’i ?Sa?e.mé

Options:
| % (iv) < (iii) < (i) < (i)

> « (iv) < (i) < (i) < (i)
L x () <(@v) < (@) < (i)
4 () < (iv) < (i) < (i)

Question Number : 141 Question Id : 5447341581 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Which of the following is not an electrophile?

S0 TS JVEDS AH DB?

Options:
1.v CN"

+
3. % NO>

4w AlCl;

Question Number : 142 Question Id : 5447341582 Display Question Number : Yes Is Question
Mandatory : No

0.765g of an acid gives 0.535g of C0, and 0.13g of H,0 then ratio of percentage of
Cand H 13

0.7659 8301 0.535g €0, % 2080 0.13g H,0 a8, 6t e € bt H

ve;'d?@va‘fq)@
Options:

1 & 19: 2

5 % 18: 11
3 % 20: 17
a.% 17
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Question Number : 143 Question Id : 5447341583 Display Question Number : Yes Is Question
Mandatory : No

Using Duma’s method for estimating nitrogen. 1 g of an organic compound ‘X" gave 82 ml of
nitrogen. collected at 27 °C and 750 mm Hg pressure. If the aqueous tension at 27 °C 13

30 mm H g pressure. then the percentage of nitrogen in the given compound X 1

ROENEN DBATEFS) SoT o S0 GATD ::gw 1 g 86)® R ¥ X', 27 °C
208050 750 mm Hy 360 3¢ 82 ml © 32 w96, ©F 668 36 A Rody)
eriyeido 30 mm Hg T &off, X’ o) ¥od” D2 2r6T-d0 od?

Options:
1w 22.09%

, » 8836%

2 % 44.18%

. % 70.69%

Question Number : 144 Question Id : 5447341584 Display Question Number : Yes Is Question
Mandatory : No

Identify the incorrect statement regarding crystals having Frenkel defect:
2038 & D0 (10 DSV VotoBow) 0B PIVT VS AB BDy?

Options:

Frenkel defects are observed where the difference in sizes of cations and anions is large.

. 2030 SBakn BRAIrS e’ IS S 6) Yy 203G §"DAN H0Votscd
1. 7

2.
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The density of crystals having Frenkel defect 1s less than that of a pure perfect crystal.
2036 &AW (v ‘&Jﬁs;ﬁw s, Fold a:&')[)é@é WG “&Dﬁsw Fogid Sot) I8 Gotwold

An 1onic crystal having Frenkel defect may also contain Schottky defect.

s x 20 S 0w $9A &) Loirds Y8 e I dre $A eokdidy

Alkali halides don’t usually have Frenkel defect.

i AT GEAVMT F°6 PTE 08 DoTS S DA Gokdd

Question Number : 145 Question Id : 5447341585 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is not an ideal solution?

BAD RIEAED TrIeTee BSG6 TS0 S°IG D&?

Options:
Benzene and Toluene
| BodS Hodabn 60D

Chloro-benzene and 1,2-dichloro benzene

5 3 §8 D02 H0dasw 1,2- 58 BodD

Methyl 1odide and Isopropanol

L o DBES OATEE 28030 DI TDISS

Ethyl bromide and Methyl bromide

) SO EDOE 208ak DB 5 PoE
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Question Number : 146 Question Id : 5447341586 Display Question Number : Yes Is Question
Mandatory : No

The mole-fraction of a solute in one molal ethanolic solution would be

(Given, molecular mass of ethanol = 46.07 g.mol™)

1 arerd 9ed8 gomo (e asd emgo? = 46.07 g.mol™") ddo -

Wrio

Options:
1 % 0.21

5 % 0.52
5 » 0.044

4 % D78

Question Number : 147 Question Id : 5447341587 Display Question Number : Yes Is Question
Mandatory : No

It the decomposition reaction A;) —— Byg) follows first order kinetics. then the graph of

rate of formation of B. denoted by R. agamst time ‘t” will be

Alg) — B(g) ™ 206 JAArASs] 28 DA S3r08 6] A, WYY@ B D0\G: Bew
(R T Arwotie)dd ) «S0B0) t S0&a00 06y Ro2)oGan Aot Gar tdaw

Options:

R
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A
R
/
/
f_.-’
/
‘!/
.o-""//
— >
2. % ¢
'
R
|
l.Iﬁ"'.
X
\\
e .
3. ¥ .
Y
R
f{/’ﬁ_‘" \H\\
f/ e
i »
4. % :

Question Number : 148 Question Id : 5447341588 Display Question Number : Yes Is Question
Mandatory : No

If for a hypothetical reaction, E, = 0 at 273 K. then fnd the ratio of the rate constants at 383 K.

S i) S WO 273 K G Ey = 0. &8 e56{ 273 K dakw 383 K © ¢ Bew ?go“os“u
37{1)@

Options:
1. % 10

2. v 1
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Question Number : 149 Question Id : 5447341589 Display Question Number : Yes Is Question
Mandatory : No

If the rate constant of a first order reaction is 4.606 X 107> s7*, then find the time required for

400 g of the reactant to reduce to 50 g.

28 DG Sr0S z&dﬁ 03”53: (o[ 0V fgﬁ“nSo 4606 X 1073 s‘l, 400 g Sosrad8am 50 g 08
e:egbeas‘o :J%)D 500

Options:

7.52 minutes

o 752 ddoTren

0.45 minutes
5 % 0.45 ddoJrew

46.06 minutes

3 % 46.06 dDIren

15.05 minutes

4 % 15.05 ddoIren

Question Number : 150 Question Id : 5447341590 Display Question Number : Yes Is Question
Mandatory : No
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In general, for soaps. the concentration of surfactant at CMC is around mol.L™*

FR A IV o (foogg R ag“(}é) ¢ ey Sot) 63085 © (surface active agent) med
958 mol.L™"

Options:

10—4 -3
1-_\'4,10 to 10

, x 107 t0 107"

s x 1077 10107

4 u 1051042

Question Number : 151 Question Id : 5447341591 Display Question Number : Yes Is Question
Mandatory : No

Which reaction among the following gives nascent oxygen?

S0B Dodswes” (o O SO DS €382 QI

Options:
H>0

NﬂzSOg + Clz
1. ®

, « NaOH +Cl

3 % CH(OH)Z + Clz

s o Clat Ha0
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Question Number : 152 Question Id : 5447341592 Display Question Number : Yes Is Question
Mandatory : No

Molecular bromine on reaction with three moles of molecular fluorine produces an inter halogen

compound. The total number of lone pairs at the central halogen atom i

08 APS B L), Hrd 36 © 6 LrHod ©6) Tod, 48 vods &'ad
SSYESR)) D0YAXIRD. Sods PSS DOATEYP 6D 20d VTS 20k 0%

Options:
3

1, %

Question Number : 153 Question Id : 5447341593 Display Question Number : Yes Is Question
Mandatory : No

The gases liberated when zinc reacts with dilute and conc. HNO; respectively are

208, Ha0 8o e HNO; & t56[ Tohady dendé Taiwen

Options:

. % NO,NO,

, x NO,N0
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« N,0,NO

4 » N20,NO,

Question Number : 154 Question Id : 5447341594 Display Question Number : Yes Is Question
Mandatory : No

Which of the following gives the maximum number of 10ns in aqueous solution?

S0d ::r:rgvé‘ DA 20 TIANS’ OS[BS ‘rbaaa595° SOOIV D6 EER?

Options:

.« Ni(C0),

% CGC[:; =5 HzO

. o PtCly- 6 NH;

. [Cr(NH3);(NO,), ]

Question Number : 155 Question Id : 5447341595 Display Question Number : Yes Is Question
Mandatory : No
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Match the following based on valence bond theory?

Hybridization Geometry Complex structure

(a) sp? (i) Square planar (p) [Fe(CN)¢]?~

(b) d?sp? (ii) Tetrahedral (q@) [ZnCl]*

(c) dsp? (i) Octahedral (1) [N;‘(NHQJH
() [Ag(en),]

3"53 20c :agoaom 9 0800) 2ABoDAE?

eSSBS Ny ".oog';qo :Ju'Leam)

(a) sp? (i) Square planar (p) [Fe(CN)g]®

(b) d*sp? (1) Tetrahedral (@) [ZnCl)*

(c) dsp? (it1) Octahedral (1) [Ni(NH3)4]2+
s) [Ag(cN),]

Options:

. v (a=ii—q), (b—iii—p), (c—i—r)
5 % (a—ii—q), (b—iii—1r), (c—i—s)

(a—i—q), (b—iii—p), (c—ii—1)

3. ®

1 % (a—ii—r), (b—iii—s), (c—i—q)

Question Number : 156 Question Id : 5447341596 Display Question Number : Yes Is Question
Mandatory : No
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Match the following vitamins with their sources and the corresponding diseases caused by their

deficiency?
Vitamins Sources Diseases
(a) Vitamin-B, (1) Egg-whites (p) Convulsions
(b) Vitamin-B, (1) Fish (q) Pernicious anemia
(¢c) Vitamin-B, (i) Green vegetables (r) Cheilosis
(d) Vitamin-By, (iv) Grams (s) Beri-Ben

& Brbd Arowdd DIV 8 &dyd g‘éo S0Basn T8 &0 S0 Sehdy TG0

D68 2oiassn?
DO 68y9 3o (B
(2) DS - B, (i) MdYJTd (p) e Brdo
(b) DY - B, (i) Sdew (Q) SPALED BT

(c) DS - By (iii) DOy Srorroen (1) 86

() QoDd-By, | (1v) Hiyy B (s) 80-80
Options:
. (a—ii—r),(b—iv—p),(c—iii—s),(d—i—q)
5 % (a—iv—p),(b—-ii—q),(c—i—r),(d—iii—s)

3. (a—iii=s5),(b=i-r)(c—iv—-p),(d—ii—q)

A % (a—i—q),(b—iii—s),(c—ii—r),(d—iv—p)

Question Number : 157 Question Id : 5447341597 Display Question Number : Yes Is Question
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Identify the compound (B) in given reaction.
S0d :6656‘ B 220} #0250

KCN H' /H20
CH,Cl » (4) L B

Options:

. CHsNH,

, » HCOOH

. CH;COOH

, % CH3COCH;

Question Number : 158 Question Id : 5447341598 Display Question Number : Yes Is Question
Mandatory : No

Identify the product of the following reaction:

So& édsés bdhd %@3&‘)&0 28?

CH,
CH, —é—DNa + CH,Cl - 9
i,
Options :
CH,

|
C,H;—C—0—CH,

|
P CH,

1

2. %
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CH,4

Cz H5 C 0 C2 HS

CHj

CH,

CHa—Cc—0—0

CH,

' H3C“—'0'—'C2H5

AP EAPCET 2021

Question Number : 159 Question Id : 5447341599 Display Question Number : Yes Is Question

Mandatory : No

The reaction of ‘tert-butyl methyl ether’ with one equivalent of HI gives

8 T B0y 3760 HI & 580 eues Be &6 o 2008 Do\ ey

Options:

tert-butyl 1odide & methyl iodide

1so-butene & methyl 1odide
QY (B Hodain DB VEE

1so-butene & methanol

. ad ar(Bd 200080 WSS

tert-butyl 1odide & methanol

56 e(EES LAVEE LBAED P OANEE

56 2365 AVEE HOBA%W eSS
4.4  © =
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Question Number : 160 Question Id : 5447341600 Display Question Number : Yes Is Question
Mandatory : No

Nucleophilic addition reaction will be most favored in which among the following compounds?

M5§03J°1}3§ RSV BE(ORY B AND T’ ©3{0d SRSPVVD V0 ¥

Options:

. % CH3CH,CHO

, » CH3CHO

O

|
C

i CH.CH,CH;” “CH,

0
|

C
HoC~ “CH,

Ln

4, 8
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